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First modified subclause
5.1a.3.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.

The code is punctured in such a way that the following coded bits:

{C(6*k+5) , C(6*k+50) for k = 0,1,…6} are not transmitted; except C(23), C(68) which are transmitted.
This results in a block of 78 bits, {ac(0),...,ac(77)}.

Next modified subclause
5.1a.3.5
Interleaving

a)
Header

The header, {hc(0),...,hc(135)}, is interleaved as defined in subclause 5.1a.2.1, with NC=136 and a=23, resulting in a block of 136 bits, {hi(0),...,hi(135)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,855

dc(k) = c2(k-856)
for k = 856,...,1711

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,77

dc(k) = c1(k-78)

for k = 78,…,894

dc(k) = c2(k-895)
for k = 895,…,1711




The block {dc(0),...,dc(1711)} is interleaved as defined in subclause 5.1a.2.1, with NC=1712 and a=187, resulting in a block of 1712 bits, {di(0),...,di(1711)}.
Next modified subclause
5.1a.3.6
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(428B+j)

for j = 0,...,213

e(B,j) = hi(34B+j-214)
for j = 214,...,231

e(B,j) = q(2B+j-232)

for j = 232,233

e(B,j) = hi(34B+j-216)
for j = 234,...,249

e(B,j) = di(428B+j-36)
for j = 250,...,463

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme UAS-7, UAS-8 or UAS-9.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,200+k) with e(B,218+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 34, 35, 38, 39, 42, 43, 46, 47, 50 and 51.

c)   PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:
For B = 0

Swap e(B,50) with e(B,40)

Swap e(B,79) with e(B,160)

Swap e(B,158) with e(B,81)

Swap e(B,183) with e(B,21)

Swap e(B,187) with e(B,177)

Swap e(B,230) with e(B,120)

Swap e(B,302) with e(B,405)

Swap e(B,327) with e(B,305)

Swap e(B,406) with e(B,280)

Swap e(B,410) with e(B,444)

Swap e(B,435) with e(B,368)

For B = 1

Swap e(B,26) with e(B,177)

Swap e(B,51) with e(B,81)

Swap e(B,130) with e(B,40)

Swap e(B,159) with e(B,120)

Swap e(B,231) with e(B,160)

Swap e(B,274) with e(B,368)

Swap e(B,299) with e(B,280)

Swap e(B,303) with e(B,444)

Swap e(B,382) with e(B,405)

Swap e(B,407) with e(B,305)

For B = 2

Swap e(B,23) with e(B,40)

Swap e(B,106) with e(B,120)

Swap e(B,131) with e(B,81)

Swap e(B,210) with e(B,0)

Swap e(B,214) with e(B,177)

Swap e(B,275) with e(B,405)

Swap e(B,354) with e(B,305)

Swap e(B,379) with e(B,280)

Swap e(B,383) with e(B,444)

Swap e(B,462) with e(B,368)

For B = 3

Swap e(B,78) with e(B,120)

Swap e(B,103) with e(B,40)

Swap e(B,107) with e(B,177)

Swap e(B,186) with e(B,160)

Swap e(B,211) with e(B,81)

Swap e(B,326) with e(B,280)

Swap e(B,330) with e(B,444)

Swap e(B,355) with e(B,368)

Swap e(B,434) with e(B,305)

Swap e(B,463) with e(B,405)

Next modified subclause
5.1a.6.5
Interleaving

a)
Header

The header, {hc(0),...,hc(167)}, is interleaved as defined in subclause 5.1a.2.1, with NC=168 and a=25, resulting in a block of 168 bits, {hi(0),...,hi(167)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,559

dc(k) = c2(k-560)
for k = 560,...,1119

dc(k) = c3(k-1120)
for k = 1120,...,1679

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,...,77

dc(k) = c1(k-78)

for k = 78,…,611

dc(k) = c2(k-612)
for k = 612,…,1145

dc(k) = c3(k-1145)
for k = 1146,…,.1679





The block {dc(0),...,dc(1679)} is interleaved as defined in subclause 5.1a.2.1, with NC=1680 and a=173, resulting in a block of 1680 bits, {di(0),...,di(1679)}.

Next modified subclause
5.1a.6.6
Mapping on a burst

a)
Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(420B+j)

for j = 0,...,209

e(B,j) = hi(42B+j-210)
for j = 210,...,231

e(B,j) = q(2B+j-232)

for j = 232,233

e(B,j) = hi(42B+j-212)
for j = 234,...,253

e(B,j) = di(420B+j-44)
for j = 254,...,463


where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme UAS-10 or UAS-11.

b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

Swap e(B,192+k) with e(B,214+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 16, 17, 42, 43, 46, 47, 50, 51, 54, 55, 58, 59, 62 and 63.
c)  PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,50) with e(B,120)

Swap e(B,75) with e(B,81)

Swap e(B,99) with e(B,177)

Swap e(B,174) with e(B,40)

Swap e(B,198) with e(B,160)

Swap e(B,267) with e(B,368)

Swap e(B,366) with e(B,305)

Swap e(B,390) with e(B,444)

Swap e(B,391) with e(B,280)

Swap e(B,415) with e(B,405)

For B = 1

Swap e(B,7) with e(B,0)

Swap e(B,31) with e(B,177)

Swap e(B,106) with e(B,21)

Swap e(B,130) with e(B,120)

Swap e(B,155) with e(B,40)

Swap e(B,226) with e(B,160)

Swap e(B,251) with e(B,368)

Swap e(B,298) with e(B,280)

Swap e(B,322) with e(B,444)

Swap e(B,323) with e(B,321)

Swap e(B,347) with e(B,405)

Swap e(B,446) with e(B,305)

For B = 2

Swap e(B,38) with e(B,40)

Swap e(B,62) with e(B,160)

Swap e(B,87) with e(B,120)

Swap e(B,186) with e(B,81)

Swap e(B,210) with e(B,177)

Swap e(B,211) with e(B,0)

Swap e(B,279) with e(B,405)

Swap e(B,378) with e(B,368)

Swap e(B,403) with e(B,305)

Swap e(B,427) with e(B,444)

For B = 3

Swap e(B,19) with e(B,160)

Swap e(B,118) with e(B,81)

Swap e(B,143) with e(B,40)

Swap e(B,167) with e(B,177)

Swap e(B,214) with e(B,120)

Swap e(B,239) with e(B,280)

Swap e(B,310) with e(B,368)

Swap e(B,335) with e(B,305)

Swap e(B,359) with e(B,444)

Swap e(B,434) with e(B,321)

Swap e(B,458) with e(B,405)

Next modified subclause
5.1a.7.5
Interleaving

a)
Header

The interleaving is the same as for UAS-10 as specified in subclause 5.1a.6.5.
b)
Data and PAN

If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,559

dc2(k) = c2(k)


for k = 0,...,559

dc3(k) = c3(k)


for k = 0,...,559

If a PAN is included, the following definitions apply:

dc1(k) = ac(3k)


for k = 0,…,25

dc1(k) = c1(k-26)

for k = 26,…,559
dc2(k) = ac(3k+1)

for k = 0,…,25

dc2(k) = c2(k-26)

for k = 26,…,559

dc3(k) = ac(3k+2)

for k = 0,…,25

dc3(k) = c3(k-26)

for k = 26,…,559







The three blocks {dc1(0),...,dc1(558)}, {dc2(0),...,dc2(558)} and {dc3(0),...,dc3(558)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=560 and a=359, resulting in the three blocks {di1(0),…,di1(558)}, {di2(0),…,di2(558)} and {di3(0),…,di3(558)}, where di1 corresponds to dc1, di2 to dc2 and di3 to dc3.

The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,559

di(k) = di2(k-560)

for k = 560,...,1119

di(k) = di3(k-1120)

for k = 1120,...,1679

Next modified subclause
5.1a.7.6
Mapping on a burst

a)   Straightforward mapping
The mapping is the same as for UAS-10 as specified in subclause 5.1a.6.6 a).

b) Bit swapping

The bit swapping is the same as for UAS-10 as specified in subclause 5.1a.6.6. b)

c)   PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,15) with e(B,40)

Swap e(B,58) with e(B,81)

Swap e(B,115) with e(B,160)

Swap e(B,158) with e(B,177)

Swap e(B,187) with e(B,120)

Swap e(B,238) with e(B,280)

Swap e(B,274) with e(B,405)

Swap e(B,303) with e(B,305)

Swap e(B,346) with e(B,368)

Swap e(B,403) with e(B,444)

For B = 1

Swap e(B,11) with e(B,160)

Swap e(B,54) with e(B,177)

Swap e(B,83) with e(B,81)

Swap e(B,126) with e(B,120)

Swap e(B,155) with e(B,21)

Swap e(B,198) with e(B,0)

Swap e(B,234) with e(B,368)

Swap e(B,299) with e(B,405)

Swap e(B,342) with e(B,444)

Swap e(B,371) with e(B,280)

Swap e(B,414) with e(B,305)

Swap e(B,443) with e(B,321)

For B = 2

Swap e(B,22) with e(B,81)

Swap e(B,79) with e(B,177)

Swap e(B,151) with e(B,120)

Swap e(B,194) with e(B,160)

Swap e(B,267) with e(B,405)

Swap e(B,310) with e(B,444)

Swap e(B,339) with e(B,280)

Swap e(B,382) with e(B,305)

Swap e(B,439) with e(B,368)

For B = 3

Swap e(B,18) with e(B,177)

Swap e(B,47) with e(B,120)

Swap e(B,90) with e(B,160)

Swap e(B,119) with e(B,0)

Swap e(B,162) with e(B,40) 
Swap e(B,227) with e(B,81)

Swap e(B,263) with e(B,444)

Swap e(B,335) with e(B,368)

Swap e(B,378) with e(B,405)

Swap e(B,407) with e(B,280)

Swap e(B,450) with e(B,305)

Next modified subclause
5.1a.8.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.

The code is punctured in such a way that the following coded bits:

{C(11+k) , C(17+k), C(23+k,) C(32+k), C(41+k) for k = 0, 45} are not transmitted

This results in a block of 80 bits, {ac(0),...,ac(79)}.

Next modified subclause
5.1a.8.5
Interleaving

a)
Header

The header, {hc(0),...,hc(107)}, is interleaved as defined in subclause 5.1a.2.1, with NC=108 and a=23, resulting in a block of 108 bits, {hi(0),...,hi(107)}.
b)
Data and PAN

If a PAN is not included, the following rule applies:

dc(k) = c(k)


for k = 0,...,987

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,79

dc(k) = c(k-80)


for k = 80,…,987



The block {dc(0),...,dc(987)} is interleaved as defined in subclause 5.1a.2.1, with NC=988 and a=108, resulting in a block of 988 bits, {di(0),...,di(987)}.

Next modified subclause
5.1a.10.5
Interleaving

a)
Header

The header, {hc(0),...,hc(143)}, is interleaved as defined in subclause 5.1a.2.1, with NC=144 and a=29, resulting in a block of 144 bits, {hi(0),...,hi(143)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,1027

dc(k) = c2(k-1028)
for k = 1028,...,2055

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,79

dc(k) = c1(k-80)

for k = 80,…,1067

dc(k) = c2(k-1068)
for k = 1068,…,2055




The block {dc(0),...,dc(2055)} is interleaved as defined in subclause 5.1a.2.1, with NC=2056 and a=403, resulting in a block of 2056 bits, {di(0),...,di(2055)}.
Next modified subclause
5.1a.10.6
Mapping on a burst

a)
Straightforward Mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(514B+j)

for j = 0,...,257

e(B,j) = hi(36B+j-258)
for j = 258,...,275

e(B,j) = q(2B+j-276)

for j = 276,277

e(B,j) = hi(36B+j-260)
for j = 278,...,295
e(B,j) = di(514B+j-38)
for j = 296,...,551

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme UBS-7 or UBS-8.

b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

Swap e(B,240+k) with e(B,258+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 16, 17, 38, 39, 42, 43, 46, 47, 50, 51, 54 and 55.
c)  PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,58) with e(B,81)

Swap e(B,70) with e(B,177)

Swap e(B,99) with e(B,120)

Swap e(B,210) with e(B,201)

Swap e(B,251) with e(B,160)

Swap e(B,318) with e(B,321)

Swap e(B,330) with e(B,444)

Swap e(B,359) with e(B,500)

Swap e(B,470) with e(B,368)

Swap e(B,499) with e(B,340)

Swap e(B,511) with e(B,405)

For B = 1

Swap e(B,102) with e(B,201)

Swap e(B,131) with e(B,81)

Swap e(B,143) with e(B,160)

Swap e(B,242) with e(B,120)

Swap e(B,254) with e(B,177)

Swap e(B,362) with e(B,368)

Swap e(B,391) with e(B,520) 
Swap e(B,403) with e(B,405)

Swap e(B,502) with e(B,340)

Swap e(B,514) with e(B,444)

Swap e(B,543) with e(B,500)

For B = 2

Swap e(B,23) with e(B,0)

Swap e(B,35) with e(B,201)

Swap e(B,134) with e(B,40)

Swap e(B,146) with e(B,160)

Swap e(B,175) with e(B,120)

Swap e(B,263) with e(B,81)

Swap e(B,275) with e(B,177)

Swap e(B,394) with e(B,500)

Swap e(B,406) with e(B,444)

Swap e(B,435) with e(B,368)

Swap e(B,546) with e(B,405)

For B = 3

Swap e(B,26) with e(B,40)

Swap e(B,38) with e(B,177)

Swap e(B,67) with e(B,120)

Swap e(B,178) with e(B,201)

Swap e(B,207) with e(B,0)

Swap e(B,219) with e(B,160)

Swap e(B,266) with e(B,81)

Swap e(B,327) with e(B,500)

Swap e(B,438) with e(B,405)

Swap e(B,467) with e(B,321)

Swap e(B,479) with e(B,444)

Next modified subclause
5.1a.12.4
PAN coding

The PAN {pn(0),...,pn(24)}, if included, is coded as defined in subclause 5.1a.1.4, resulting in a block of 90 bits, {C(0),...,C(89)}.

The code is punctured in such a way that the following coded bits:

{C(15*k+5) for k = 0,1,…5} are not transmitted

This results in a block of 84 bits, {ac(0),...,ac(83)}.

Next modified subclause
5.1a.12.5
Interleaving

a)
Header

The header, {hc(0),...,hc(183)}, is interleaved as defined in subclause 5.1a.2.1, with NC=184 and a=33, resulting in a block of 184 bits, {hi(0),...,hi(183)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,671

dc(k) = c2(k-672)
for k = 672,...,1343

dc(k) = c3(k-1344)
for k = 1344,...,2015

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,..,83

dc(k) = c1(k-84)

for k = 84,…,727

dc(k) = c2(k-728)
for k = 728,…,1371

dc(k) = c3(k-1372)
for k = 1372,…,2015





The block {dc(0),...,dc(2015)} is interleaved as defined in subclause 5.1a.2.1, with NC=2016 and a=229, resulting in a block of 2016 bits, {di(0),...,di(2015)}.

Next modified subclause
5.1a.12.6
Mapping on a burst

a)
Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(504B+j)

for j = 0,...,251

e(B,j) = hi(46B+j-252)
for j = 252,...,275

e(B,j) = q(2B+j-276)

for j = 276,277

e(B,j) = hi(46B+j-254)
for j = 278,...,299

e(B,j) = di(504B+j-48)
for j = 300,...,551


where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme UBS-9.

b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

Swap e(B,228+k) with e(B,254+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 16, 17, 20 and 21.

Swap e(B,278+k) with e(B,300+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 16, 17, 20 and 21.
c)  PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,90) with e(B,40)

Swap e(B,91) with e(B,201)

Swap e(B,182) with e(B,81)

Swap e(B,183) with e(B,160)

Swap e(B,254) with e(B,120)

Swap e(B,255) with e(B,177)

Swap e(B,322) with e(B,500)

Swap e(B,367) with e(B,520)

Swap e(B,414) with e(B,405)

Swap e(B,459) with e(B,340)

Swap e(B,506) with e(B,444)

Swap e(B,551) with e(B,329)

For B = 1

Swap e(B,34) with e(B,160)

Swap e(B,79) with e(B,120)

Swap e(B,126) with e(B,177)

Swap e(B,170) with e(B,81)

Swap e(B,171) with e(B,201)

Swap e(B,310) with e(B,329)

Swap e(B,311) with e(B,405)

Swap e(B,402) with e(B,500)

Swap e(B,403) with e(B,444)

Swap e(B,494) with e(B,368)

Swap e(B,539) with e(B,340)

For B = 2

Swap e(B,22) with e(B,120)

Swap e(B,67) with e(B,0)

Swap e(B,114) with e(B,201)

Swap e(B,159) with e(B,40)

Swap e(B,206) with e(B,177)

Swap e(B,251) with e(B,81)

Swap e(B,278) with e(B,444)

Swap e(B,390) with e(B,329)

Swap e(B,391) with e(B,368)

Swap e(B,482) with e(B,500)

Swap e(B,483) with e(B,405)

For B = 3

Swap e(B,10) with e(B,40)

Swap e(B,11) with e(B,160)

Swap e(B,102) with e(B,81)

Swap e(B,103) with e(B,177)

Swap e(B,194) with e(B,120)

Swap e(B,239) with e(B,0)

Swap e(B,266) with e(B,201)

Swap e(B,334) with e(B,405)

Swap e(B,379) with e(B,500)

Swap e(B,426) with e(B,444)

Swap e(B,470) with e(B,329)

Swap e(B,471) with e(B,368)

Next modified subclause
5.1a.13.5
Interleaving

a)
Header

The header, {hc(0),...,hc(167)}, is interleaved as defined in subclause 5.1a.2.1, with NC=168 and a=29, resulting in a block of 168 bits, {hi(0),...,hi(167)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,859

dc(k) = c2(k-860)
for k = 860,...,1719

dc(k) = c3(k-1720)
for k = 1720,...,2579

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,83

dc(k) = c1(k-84)

for k = 84,…,915

dc(k) = c2(k-916)
for k = 916,…,1747

dc(k) = c3(k-1748)
for k = 1748,…,2579





The block {dc(0),...,dc(2579)} is interleaved as defined in subclause 5.1a.2.1, with NC=2580 and a=179, resulting in a block of 2580 bits, {di(0),...,di(2579)}.

Next modified subclause
5.1a.13.6
Mapping on a burst

a)
Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(645B+j)

for j = 0,...,324

e(B,j) = hi(42B+j-325)
for j = 325,...,344

e(B,j) = q(3B+j-345)

for j = 345

e(B,j) = hi(42B+j-326)
for j = 346

e(B,j) = q(3B+j-346)

for j = 347,348

e(B,j) = hi(42B+j-328)
for j = 349,...,369
e(B,j) = di(645B+j-45)
for j = 370,...,689


where

q(0),q(1),...,q(11) = 0,0,0,0,0,0,0,0,0,0,0,0 identifies the coding scheme UBS-10.

b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

Swap e(B,305+k) with e(B,326+k) for k=0, 3, 5, 8, 10, 13, 15 and 18.

Swap e(B,295+k) with e(B,327+k) for k=0 and 5

Swap e(B,298+k) with e(B,337+k) for k=0 and 5

Swap e(B,370+k) with e(B,346+k) for k=0, 3, 5, 8, 10, 13, 15, 18, 20 and 23.

Swap e(B,395+k) with e(B,362+k) for k=0 and 5.

Swap e(B,398+k) with e(B,352+k) for k=0 and 5.
c)  PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,34) with e(B,170)

Swap e(B,71) with e(B,98)

Swap e(B,142) with e(B,110)

Swap e(B,176) with e(B,200)

Swap e(B,179) with e(B,80)

Swap e(B,284) with e(B,188)

Swap e(B,321) with e(B,158)

Swap e(B,357) with e(B,410)

Swap e(B,367) with e(B,688)
Swap e(B,437) with e(B,503)

Swap e(B,474) with e(B,480)

Swap e(B,582) with e(B,433)

Swap e(B,616) with e(B,530)

Swap e(B,687) with e(B,493)

For B = 1

Swap e(B,7) with e(B,158)

Swap e(B,44) with e(B,98)

Swap e(B,149) with e(B,200)

Swap e(B,152) with e(B,80)

Swap e(B,186) with e(B,170)

Swap e(B,257) with e(B,188)

Swap e(B,294) with e(B,110)

Swap e(B,376) with e(B,480)

Swap e(B,447) with e(B,503)

Swap e(B,481) with e(B,688)
Swap e(B,484) with e(B,433)

Swap e(B,589) with e(B,493)

Swap e(B,626) with e(B,530)

For B = 2

Swap e(B,17) with e(B,98)

Swap e(B,51) with e(B,188)

Swap e(B,159) with e(B,170)

Swap e(B,196) with e(B,110)

Swap e(B,267) with e(B,158)

Swap e(B,304) with e(B,80)

Swap e(B,359) with e(B,530)

Swap e(B,454) with e(B,688)
Swap e(B,457) with e(B,410)

Swap e(B,491) with e(B,503)

Swap e(B,562) with e(B,493)

Swap e(B,599) with e(B,480)

Swap e(B,636) with e(B,433)

For B = 3

Swap e(B,24) with e(B,103)

Swap e(B,27) with e(B,80)

Swap e(B,61) with e(B,188)

Swap e(B,132) with e(B,200)

Swap e(B,169) with e(B,170)

Swap e(B,206) with e(B,110)

Swap e(B,277) with e(B,158)

Swap e(B,311) with e(B,0)

Swap e(B,369) with e(B,480)

Swap e(B,427) with e(B,493)
Swap e(B,464) with e(B,530)

Swap e(B,501) with e(B,433)

Swap e(B,572) with e(B,503)

Swap e(B,609) with e(B,410)

Next modified subclause
5.1a.14.5
Interleaving

a)
Header

The header, {hc(0),...,hc(207)}, is interleaved as defined in subclause 5.1a.2.1, with NC=208 and a=49, resulting in a block of 208 bits, {hi(0),...,hi(207)}.
b)
Data and PAN

If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,634

dc2(k) = c2(k)


for k = 0,...,634

dc3(k) = c3(k)


for k = 0,...,634

dc4(k) = c4(k)


for k = 0,...,634

If a PAN is included, the following definitions apply:

dc1(k) = ac(4k)


for k = 0,…,19

dc1(k) = c1(k-20)

for k = 20,…,634

dc2(k) = ac(4k+1)

for k = 0,…,19

dc2(k) = c2(k-20)

for k = 20,…,634

dc3(k) = ac(4k+2)

for k = 0,…,19

dc3(k) = c3(k-20)

for k = 20,…,634

dc4(k) = ac(4k+3)

for k = 0,…,19

dc4(k) = c4(k-20)

for k = 20,…,634









The four blocks {dc1(0),...,dc1(634)}, {dc2(0),...,dc2(634)}, {dc3(0),...,dc3(634)} and {dc4(0),...,dc4(634)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=635 and a=177, resulting in the four blocks {di1(0),…,di1(634)}, {di2(0),…,di2(634)}, {di3(0),…,di3(634)} and {di4(0),…,di4(634)}, where di1 corresponds to dc1, di2 to dc2, di3 to dc3 and di4 to dc4.

The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,634

di(k) = di2(k-635)

for k = 635,...,1269

di(k) = di3(k-1270)

for k = 1270,...,1904

di(k) = di4(k-1905)

for k = 1905,...,2539

Next modified subclause
5.1a.14.6
Mapping on a burst


Straightforward Mapping


The mapping is given by the rule:


For B=0,1,2,3, let

e(B,j) = di(635B+j)

for j = 0,...,319

e(B,j) = hi(52B+j-320)
for j = 320,...,344

e(B,j) = q(3B+j-345)

for j = 345

e(B,j) = hi(42B+j-321)
for j = 346

e(B,j) = q(3B+j-346)

for j = 347,348

e(B,j) = hi(52B+j-323)
for j = 349,...,374
e(B,j) = di(635B+j-55)
for j = 375,...,689


where

q(0),q(1),...,q(11) = 1,1,1,1,1,1,1,1,1,1,1,1 identifies the coding scheme UBS-11 or UBS-12.

b)
Bit swapping


After this mapping the following bits are swapped:


For B = 0,1,2,3,

Swap e(B,295+k) with e(B,321+k) for k=0, 3, 5, 8, 10, 13, 15, 18, 20 and 23.

Swap e(B,280+k) with e(B,322+k) for k=0, 5 and 10.

Swap e(B,288+k) with e(B,337+k) for k=0 and 5.

Swap e(B,375+k) with e(B,346+k) for k=0, 3, 5, 8, 10, 13, 15, 18, 20, 23, 25 and 28.

Swap e(B,405+k) with e(B,362+k) for k=0, 5 and 10.

Swap e(B,408+k) with e(B,352+k) for k=0 and 5.
c)  PAN bit swapping
In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0, 1, 2 and 3

Swap e(B,11) with e(B,200)

Swap e(B,42) with e(B,110)

Swap e(B,146) with e(B,98)

Swap e(B,177) with e(B,80)

Swap e(B,219) with e(B,158)

Swap e(B,292) with e(B,170)

Swap e(B,349) with e(B,530)

Swap e(B,409) with e(B,420)

Swap e(B,451) with e(B,493)

Swap e(B,482) with e(B,480)

Swap e(B,524) with e(B,688)
Swap e(B,586) with e(B,433)

Swap e(B,659) with e(B,503)
Next modified subclause
5.1a.16.1
Block constitution

If the message delivered to the encoder does not include a PAN, it has a fixed size of 478 information bits {d(0),d(1),...,d(477)}. If the message delivered to the encoder includes a PAN, it has a fixed size of 503 information bits {d(0),d(1),...,d(502).

NOTE:
The presence of the PAN is indicated by the PANI field in the header (see 3GPP TS 44.060).

Next modified subclause
5.1a.16.2
USF coding

A block of 36 bits {u’(0),u’(1),...,u’(35)} is derived  as described for MCS-5 DL in subclause 5.1.9.1.2.

Next modified subclause
5.1a.16.6
Interleaving

a)
Header


The header interleaving is the same as for MCS-5 DL as specified in subclause 5.1.9.1.5, resulting in a block of 100 bits, {hi(0),...,hi(99)}.

b)
Data and PAN

If a PAN is not included, the following rule applies:

dc(k) = c(k)


for k = 0,...,1247

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,..., 75
dc(k) = c(k-76)

for k = 76,...,1247

The block {dc(0),...,dc(1247)} is interleaved as for MCS-5 DL as specified in subclause 5.1.9.1.5, resulting in a block of 1248 bits, {di(0),...,di(1247)}.

Next modified subclause
5.1a.17.2
USF coding

A block of 36 bits {u’(0),u’(1),...,u’(35)} is derived as described for MCS-5 DL in subclause 5.1.9.1.2.

Next modified subclause
5.1a.18.2
USF coding

A block of 36 bits {u’(0),u’(1),...,u’(35)} is derived as described for MCS-5 DL in subclause 5.1.9.1.2.

Next modified subclause
5.1a.19.2
USF coding

5.1a.19.2.1
BTTI configuration
The USF bits {u(0),u(1),u(2)} are block coded into 48 bits u’(0),u’(1),...,u’(47) according to the following table:
	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(47)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 
	0 0 1 1 0 0 1 1 0 0 1 1

	001
	1 1 1 1 1 1 1 1 1 1 1 1 
	0 0 1 1 0 0 1 1 0 1 1 1 
	1 1 1 1 1 1 1 1 1 0 1 1 
	0 0 1 1 1 1 1 1 0 0 1 1

	010
	1 1 1 1 0 0 1 1 0 0 1 1 
	1 1 1 1 0 1 1 1 0 1 1 1 
	1 1 1 1 0 0 1 1 0 1 1 1 
	1 0 1 1 0 0 1 1 1 0 1 1

	011
	1 0 1 1 1 1 1 1 1 0 1 1 
	1 1 1 1 1 1 1 1 0 0 1 1 
	0 0 1 1 1 0 1 1 0 1 1 1 
	1 1 1 1 1 1 1 1 1 0 1 1

	100
	1 0 1 1 0 0 1 1 0 1 1 1 
	1 0 1 1 1 0 1 1 1 1 1 1 
	1 1 1 1 1 1 1 1 1 1 1 1 
	1 1 1 1 0 0 1 1 0 1 1 1

	101
	0 1 1 1 1 1 1 1 0 1 1 1
	0 1 1 1 1 0 1 1 1 0 1 1 
	1 0 1 1 0 1 1 1 0 1 1 1 
	0 1 1 1 1 1 1 1 0 1 1 1

	110
	0 1 1 1 1 0 1 1 1 0 1 1 
	0 0 1 1 1 1 1 1 1 0 1 1 
	0 0 1 1 1 1 1 1 1 0 1 1 
	1 0 1 1 0 0 1 1 1 1 1 1

	111
	0 0 1 1 0 1 1 1 1 1 1 1 
	1 1 1 1 0 1 1 1 1 1 1 1 
	0 1 1 1 0 0 1 1 1 0 1 1 
	0 1 1 1 1 1 1 1 1 1 1 1


5.1a.19.2.2
RTTI configurations

If the USF is sent in RTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the USF bits {u(0),u(1),u(2)} are block coded into 48 bits u’(0),u’(1),...,u’(47) as described in subclause 5.1a.19.2.1.

If the USF is sent in BTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the three bits of the USF to be sent on the lower numbered PDCH of a corresponding downlink PDCH-pair are block coded into 48 bits uL(0),uL(1),...,uL(47) as described in subclause 5.1a.19.2.1; the three bits of the USF to be sent on the higher numbered PDCH of a corresponding downlink PDCH-pair are block coded into 48 bits uH(0),uH(1),...,uH(47) as described in subclause 5.1a.19.2.1.

NOTE:
If BTTI USF mode is used when sending data blocks in RTTI configuration, then u(0),u(1),u(2) need not contain a USF; in this case, they are ignored by the encoder. How the USFs are delivered to the encoder in this case is implementation dependent.

If the data block is sent in the first 10ms of a 20ms block period, then:

u’(j)=uL(j),

j=0…11
u’(j)=uH(j-12),
j=12…23
u’(j)=uL(j-12),
j=24…35
u’(j)=uH(j-24)

j=36…47
If the data block is sent in the second 10ms of a 20ms block period, then:

u’(j)=uL(j+24),
j=0…11
u’(j)=uH(j+12),
j=12…23
u’(j)=uL(j+12),
j=24…35
u’(j)=uH(j)


j=36…47
Next modified subclause
5.1a.19.6
Interleaving

a)
Header

The header, {hc(0),...,hc(135)}, is interleaved as defined in subclause 5.1a.2.1, with NC=136 and a=23, resulting in a block of 136 bits, {hi(0),...,hi(135)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,831

dc(k) = c2(k-832)
for k = 832,...,1663

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,77

dc(k) = c1(k-78)

for k = 78,…,870

dc(k) = c2(k-871)
for k = 871,..,.1663




The block {dc(0),...,dc(1663)} is interleaved as defined in subclause 5.1a.2.1, with NC=1664 and a=199, resulting in a block of 1664 bits, {di(0),...,di(1663)}.
Next modified subclause
5.1a.19.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(416B+j)

for j = 0,...,207

e(B,j) = hi(34B+j-208)
for j = 208,...,227
e(B,j) = q(2B+j-230)

for j = 228,229
e(B,j) = hi(34B+j-210)
for j = 230,...,231
e(B,j) = u’(12B+j-232)
for j = 232,...,243

e(B,j) = hi(34B+j-222)
for j = 244,...,255

e(B,j) = di(416B+j-48)
for j = 256,...,463

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme DAS-8 or DAS-9.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,184+k) with e(B,210+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 16, 17, 20, 21.

Swap e(B,256+k) with e(B,246+k) for k=0, 1, 4, 5, 8, 9.
In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
c) 
PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,55) with e(B,40)




Swap e(B,91) with e(B,81)

Swap e(B,127) with e(B,120)

Swap e(B,163) with e(B,160)

Swap e(B,199) with e(B,177)

Swap e(B,302) with e(B,268)

Swap e(B,338) with e(B,305)

Swap e(B,374) with e(B,368)

Swap e(B,410) with e(B,405)

Swap e(B,446) with e(B,444)

For B = 1

Swap e(B,23) with e(B,120)

Swap e(B,59) with e(B,160)
Swap e(B,95) with e(B,177)

Swap e(B,150) with e(B,12)

Swap e(B,186) with e(B,81)

Swap e(B,230) with e(B,181)

Swap e(B,268) with e(B,268)

Swap e(B,305) with e(B,305)

Swap e(B,368) with e(B,368)

Swap e(B,405) with e(B,405)

Swap e(B,444) with e(B,444)

For B = 2

Swap e(B,46) with e(B,40)

Swap e(B,82) with e(B,81)

Swap e(B,118) with e(B,120)

Swap e(B,154) with e(B,160)

Swap e(B,190) with e(B,177)

Swap e(B,311) with e(B,268)

Swap e(B,347) with e(B,305)

Swap e(B,383) with e(B,368)

Swap e(B,419) with e(B,405)

Swap e(B,455) with e(B,444)

For B = 3

Swap e(B,14) with e(B,120)

Swap e(B,50) with e(B,160)

Swap e(B,86) with e(B,180)

Swap e(B,159) with e(B,40)

Swap e(B,195) with e(B,81)

Swap e(B,268) with e(B,268)

Swap e(B,305) with e(B,305)

Swap e(B,368) with e(B,368)

Swap e(B,405) with e(B,405)

Swap e(B,444) with e(B,444)

Next modified subclause
5.1a.21.2
USF coding

5.1a.21.2.1
BTTI configuration
The USF bits {u(0),u(1),u(2)} are block coded into 60 bits u’(0),u’(1),...,u’(59) according to the following table:
	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(59)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 
	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 
	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 
	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 

	001
	1 0 0 1 0 1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 
	1 0 0 1 0 1 0 0 1 0 1 0 1 0 0 
	0 0 0 0 0 1 0 0 1 0 0 0 0 0 0

	010
	1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 
	1 0 0 1 0 0 0 1 1 0 0 0 1 1 0 
	1 0 0 1 0 0 0 0 0 0 0 0 1 1 0 
	1 0 1 0 0 0 0 0 0 0 1 0 1 0 0

	011
	1 0 1 0 0 1 0 0 1 0 1 0 1 0 0 
	1 0 0 1 0 1 0 0 1 0 0 0 0 0 0 
	0 0 0 0 0 1 0 1 0 0 0 0 1 1 0 
	1 0 0 1 0 1 0 0 1 0 1 0 1 0 0

	100
	1 0 1 0 0 0 0 0 0 0 0 0 1 1 0 
	1 0 1 0 0 1 0 1 0 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 1 0 0 1 0 
	1 0 0 1 0 0 0 0 0 0 0 0 1 1 0

	101
	0 0 1 1 0 1 0 0 1 0 0 0 1 1 0 
	0 0 1 1 0 1 0 1 0 0 1 0 1 0 0 
	1 0 1 0 0 0 0 1 1 0 0 0 1 1 0 
	0 0 1 1 0 1 0 0 1 0 0 0 1 1 0

	110
	0 0 1 1 0 1 0 1 0 0 1 0 1 0 0 
	0 0 0 0 0 1 0 0 1 0 1 0 1 0 0
	0 0 0 0 0 1 0 0 1 0 1 0 1 0 0 
	1 0 1 0 0 0 0 0 0 0 1 0 0 1 0

	111
	0 0 0 0 0 0 0 1 1 0 1 0 0 1 0 
	1 0 0 1 0 0 0 1 1 0 1 0 0 1 0 
	0 0 1 1 0 0 0 0 0 0 1 0 1 0 0 
	0 0 1 1 0 1 0 0 1 0 1 0 0 1 0


5.1a.21.2.2
RTTI configurations

If the USF is sent in RTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the USF bits {u(0),u(1),u(2)} are block coded into 60 bits u’(0),u’(1),...,u’(59) as described in subclause 5.1a.21.2.1.

If the USF is sent in BTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the three bits of the USF to be sent on the lower numbered PDCH of a corresponding downlink PDCH-pair are block coded into 60 bits uL(0),uL(1),...,uL(59) as described in subclause 5.1a.21.2.1; the three bits of the USF to be sent on the higher numbered PDCH of a corresponding downlink PDCH-pair are block coded into 60 bits uH(0),uH(1),...,uH(59) as described in subclause 5.1a.21.2.1.

NOTE:
If BTTI USF mode is used when sending data blocks in RTTI configuration, then u(0),u(1),u(2) need not contain a USF; in this case, they are ignored by the encoder. How the USFs are delivered to the encoder in this case is implementation dependent.

If the data block is sent in the first 10ms of a 20ms block period, then:

u’(j)=uL(j),

j=0…14
u’(j)=uH(j-15),
j=15…29
u’(j)=uL(j-15),
j=30…44
u’(j)=uH(j-30)

j=45…59
If the data block is sent in the second 10ms of a 20ms block period, then:

u’(j)=uL(j+30),
j=0…14
u’(j)=uH(j+15),
j=15…29
u’(j)=uL(j+15),
j=30…44
u’(j)=uH(j)


j=45…59
Next modified subclause
5.1a.21.6
Interleaving

a)
Header

The header, {hc(0),...,hc(131)}, is interleaved as defined in subclause 5.1a.2.1, with NC=132 and a=7, resulting in a block of 132 bits, {hi(0),...,hi(131)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,1059

dc(k) = c2(k-1060)
for k = 1060,...,2119

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,77

dc(k) = c1(k-78)

for k = 78,…,1098

dc(k) = c2(k-1099)
for k = 1099,..,2119




The block {dc(0),...,dc(2119)} is interleaved as defined in subclause 5.1a.2.1, with NC=2120 and a=301, resulting in a block of 2120 bits, {di(0),...,di(2119)}.
Next modified subclause
5.1a.21.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(530B+j)

for j = 0,...,264

e(B,j) = hi(33B+j-265)
for j = 265,...,284
e(B,j) = q(2B+j-285)

for j = 285
e(B,j) = hi(33B+j-266)
for j = 286,...,287
e(B,j) = q(2B+j-287)

for j = 288
e(B,j) = hi(33B+j-267)
for j = 289
e(B,j) = u’(15B+j-290)
for j = 290,...,304

e(B,j) = hi(33B+j-282)
for j = 305,...,314

e(B,j) = di(530B+j-50)
for j = 315,...,579

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme DAS-10.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,240+k) with e(B,266+k) for k=0, 3, 5, 8, 10, 13, 15, 18, 20, 23.

Swap e(B,225+k) with e(B,267+k) for k=0, 5, 10.

Swap e(B,233+k) with e(B,282+k) for k=0, 5.

Swap e(B,315+k) with e(B,306+k) for k=0, 3, 5, 8.

Swap e(B,328) with e(B,312), Swap e(B,325) with e(B,307).
In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
c) 
PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:
For B = 0

Swap e(B,46) with e(B,188)

Swap e(B,59) with e(B,158)

Swap e(B,72) with e(B,80)

Swap e(B,131) with e(B,170)

Swap e(B,144) with e(B,98)

Swap e(B,216) with e(B,110)

Swap e(B,307) with e(B,385)

Swap e(B,351) with e(B,330)

Swap e(B,397) with e(B,480)

Swap e(B,469) with e(B,503) 
Swap e(B,482) with e(B,400)

Swap e(B,554) with e(B,433)

Swap e(B,567) with e(B,363)

For B = 1
Swap e(B,41) with e(B,110)

Swap e(B,54) with e(B,80)

Swap e(B,126) with e(B,98)

Swap e(B,257) with e(B,158)

Swap e(B,311) with e(B,450) 
Swap e(B,379) with e(B,530)

Swap e(B,392) with e(B,433) 
Swap e(B,464) with e(B,480)

Swap e(B,477) with e(B,363)

Swap e(B,536) with e(B,503)

Swap e(B,549) with e(B,400)

Swap e(B,562) with e(B,330)

For B = 2

Swap e(B,36) with e(B,80)

Swap e(B,82) with e(B,170)

Swap e(B,167) with e(B,110)

Swap e(B,239) with e(B,158)

Swap e(B,252) with e(B,98)

Swap e(B,306) with e(B,450)

Swap e(B,361) with e(B,530)

Swap e(B,374) with e(B,480)

Swap e(B,387) with e(B,363)

Swap e(B,446) with e(B,503)

Swap e(B,459) with e(B,400)

Swap e(B,531) with e(B,433)

Swap e(B,544) with e(B,330)

For B = 3

Swap e(B,64) with e(B,200)

Swap e(B,77) with e(B,158)

Swap e(B,149) with e(B,170)

Swap e(B,162) with e(B,98)

Swap e(B,221) with e(B,188)

Swap e(B,234) with e(B,110)

Swap e(B,247) with e(B,80)

Swap e(B,356) with e(B,433)

Swap e(B,369) with e(B,363)

Swap e(B,441) with e(B,400)

Swap e(B,526) with e(B,330)

Swap e(B,572) with e(B,480)

Next modified subclause
5.1a.22.6
Interleaving

a)
Header

The header, {hc(0),...,hc(151)}, is interleaved as defined in subclause 5.1a.2.1, with NC=152 and a=3, resulting in a block of 152 bits, {hi(0),...,hi(151)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,699

dc(k) = c2(k-700)
for k = 700,...,1399

dc(k) = c3(k-700)
for k = 1400,...,2099

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,77

dc(k) = c1(k-78)

for k = 78,…,751

dc(k) = c2(k-752)
for k = 752,…,1425

dc(k) = c3(k-1426)
for k = 1426,…,2099





The block {dc(0),...,dc(2099)} is interleaved as defined in subclause 5.1a.2.1, with NC=2100 and a=47, resulting in a block of 2100 bits, {di(0),...,di(2099)}.
Next modified subclause
5.1a.22.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(525B+j)

for j = 0,...,262

e(B,j) = hi(38B+j-263)
for j = 263,...,284
e(B,j) = q(2B+j-285)

for j = 285
e(B,j) = hi(33B+j-264)
for j = 286,...,287
e(B,j) = q(2B+j-287)

for j = 288
e(B,j) = hi(33B+j-265)
for j = 289
e(B,j) = u’(15B+j-290)
for j = 290,...,304

e(B,j) = hi(38B+j-280)
for j = 305,...,317

e(B,j) = di(525B+j-55)
for j = 318,...,579

where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme DAS-11 or DAS-12.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,230+k) with e(B,261+k) for k=0, 3, 5, 8, 10, 13, 15, 18, 20, 23, 25, 28.

Swap e(B,215+k) with e(B,262+k) for k=0, 5, 10.

Swap e(B,218+k) with e(B,277+k) for k=0, 5, 10.

Swap e(B,315+k) with e(B,306+k) for k=0, 3, 5, 8.

Swap e(B,325) with e(B,312), Swap e(B,328) with e(B,307).
In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
c)  PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,39) with e(B,158)

Swap e(B,86) with e(B,170)

Swap e(B,94) with e(B,98)

Swap e(B,141) with e(B,110)

Swap e(B,266) with e(B,200)

Swap e(B,329) with e(B,480)

Swap e(B,376) with e(B,503)

Swap e(B,384) with e(B,363)

Swap e(B,431) with e(B,400)

For B = 1

Swap e(B,84) with e(B,170)

Swap e(B,131) with e(B,188)

Swap e(B,139) with e(B,98)

Swap e(B,186) with e(B,110)

Swap e(B,264) with e(B,200)

Swap e(B,429) with e(B,480)

Swap e(B,476) with e(B,503)

Swap e(B,484) with e(B,363)

Swap e(B,531) with e(B,400)

For B = 2

Swap e(B,184) with e(B,110)

Swap e(B,231) with e(B,158)

Swap e(B,239) with e(B,80)

Swap e(B,341) with e(B,330)

Swap e(B,474) with e(B,503)

Swap e(B,482) with e(B,363)

Swap e(B,521) with e(B,530)

Swap e(B,529) with e(B,400)

Swap e(B,576) with e(B,433)

For B = 3

Swap e(B,41) with e(B,110)

Swap e(B,96) with e(B,80)

Swap e(B,229) with e(B,170)

Swap e(B,331) with e(B,573)

Swap e(B,339) with e(B,330)

Swap e(B,386) with e(B,363)

Swap e(B,574) with e(B,530)

Next modified subclause
5.1a.23.5
PAN coding

The PAN coding is the same as for UAS-7 as specified in subclause 5.1a.3.4.

Next modified subclause
5.1a.23.6
Interleaving

a)
Header

The header, {hc(0),...,hc(151)}, is interleaved as defined in subclause 5.1a.2.1, with NC=152 and a=3, resulting in a block of 152 bits, {hi(0),...,hi(151)}.
b)
Data and PAN

If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,699

dc2(k) = c2(k)


for k = 0,...,699

dc3(k) = c3(k)


for k = 0,...,699

If a PAN is included, the following definitions apply:

dc1(k) = ac(3k)


for k = 0,…,25

dc1(k) = c1(k-26)

for k = 26,…,699

dc2(k) = ac(3k+1)

for k = 0,…,25

dc2(k) = c2(k-26)

for k = 26,…,699

dc3(k) = ac(3k+2)

for k = 0,…,25

dc3(k) = c3(k-26)

for k = 26,…,699







The three blocks {dc1(0),...,dc1(699)}, {dc2(0),...,dc2(699)} and {dc3(0),...,dc3(699)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=700 and a=129, resulting in the three blocks {di1(0),…,di1(699)}, {di2(0),…,di2(699)} and {di3(0),…,di3(699)}, where di1 corresponds to dc1, di2 to dc2 and di3 to dc3.

The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,699

di(k) = di2(k-700)

for k = 700,...,1399

di(k) = di3(k-1400)

for k = 1400,...,2099

Next modified subclause
5.1a.23.7
Mapping on a burst

a) 

Straightforward mapping

The mapping is the same as for DAS-11 as specified in subclause 5.1a.22.7 a).
b) Bit swapping

The bit swapping is the same as for DAS-11 as specified in subclause 5.1a.22.7 b)

In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,19) with e(B,158)

Swap e(B,74) with e(B,110)

Swap e(B,129) with e(B,80)

Swap e(B,167) with e(B,188)

Swap e(B,289) with e(B,98)

Swap e(B,332) with e(B,503)

Swap e(B,351) with e(B,350)

Swap e(B,406) with e(B,493)

Swap e(B,461) with e(B,530)

Swap e(B,516) with e(B,433)

Swap e(B,571) with e(B,363)


For B = 1

Swap e(B,84) with e(B,98)

Swap e(B,139) with e(B,80)

Swap e(B,194) with e(B,158)

Swap e(B,249) with e(B,110)

Swap e(B,314) with e(B,480)

Swap e(B,359) with e(B,330)

Swap e(B,452) with e(B,530)

Swap e(B,526) with e(B,493)


For B = 2

Swap e(B,1) with e(B,188)

Swap e(B,56) with e(B,170)

Swap e(B,111) with e(B,110)

Swap e(B,166) with e(B,98)

Swap e(B,259) with e(B,200)

Swap e(B,271) with e(B,158)

Swap e(B,369) with e(B,330)

Swap e(B,424) with e(B,433)

Swap e(B,479) with e(B,400)

Swap e(B,534) with e(B,363)

Swap e(B,572) with e(B,480)


For B = 3

Swap e(B,121) with e(B,200)

Swap e(B,157) with e(B,98)

Swap e(B,176) with e(B,188)

Swap e(B,231) with e(B,158)

Swap e(B,281) with e(B,0)

Swap e(B,341) with e(B,363)

Swap e(B,396) with e(B,330)

Swap e(B,489) with e(B,433)

Swap e(B,544) with e(B,400)


Next modified subclause
5.1a.24.2
USF coding

5.1a.24.2.1
BTTI configuration
The USF bits {u(0),u(1),u(2)} are block coded into 32 bits u’(0),u’(1),...,u’(31) according to the following table:

	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(31)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1

	001
	1 1 0 0 1 1 0 0
	0 0 1 1 0 0 1 1
	1 1 0 0 1 1 0 0
	0 0 1 1 0 0 1 1

	010
	1 1 0 0 0 0 1 1
	1 1 0 0 0 0 1 1
	1 1 0 0 0 0 1 1
	1 1 0 0 0 0 1 1

	011
	0 0 1 1 1 1 0 0
	1 1 0 0 0 0 1 1
	0 0 1 1 1 1 0 0
	1 1 0 0 0 0 1 1

	100
	1 1 0 0 0 0 1 1
	0 0 1 1 1 1 0 0
	1 1 0 0 0 0 1 1
	0 0 1 1 1 1 0 0

	101
	0 0 1 1 1 1 0 0
	0 0 1 1 1 1 0 0
	0 0 1 1 1 1 0 0
	0 0 1 1 1 1 0 0

	110
	0 0 1 1 0 0 1 1
	1 1 0 0 1 1 0 0
	0 0 1 1 0 0 1 1
	1 1 0 0 1 1 0 0

	111
	1 1 0 0 1 1 0 0
	1 1 0 0 1 1 0 0
	1 1 0 0 1 1 0 0
	1 1 0 0 1 1 0 0


5.1a.24.2.2
RTTI configurations

If the USF is sent in RTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the USF bits {u(0),u(1),u(2)} are block coded into 32 bits u’(0),u’(1),...,u’(31) as described in subclause 5.1a.24.2.1.
If the USF is sent in BTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the three bits of the USF to be sent on the lower numbered PDCH of a corresponding downlink PDCH-pair are block coded into 32 bits uL(0),uL(1),...,uL(31) as described in subclause 5.1a.24.2.1; the three bits of the USF to be sent on the higher numbered PDCH of a corresponding downlink PDCH-pair are block coded into 32 bits uH(0),uH(1),...,uH(31) as described in subclause 5.1a.24.2.1.
NOTE:
If BTTI USF mode is used when sending data blocks in RTTI configuration, then u(0),u(1),u(2) need not contain a USF; in this case, they are ignored by the encoder. How the USFs are delivered to the encoder in this case is implementation dependent.

If the data block is sent in the first 10ms of a 20ms block period, then:

u’(j)=uL(j),

j=0…7
u’(j)=uH(j-8),

j=8…15
u’(j)=uL(j-8),

j=16…23
u’(j)=uH(j-16)

j=24…31
If the data block is sent in the second 10ms of a 20ms block period, then:

u’(j)=uL(j+16),
j=0…7
u’(j)=uH(j+8),

j=8…15
u’(j)=uL(j+8),

j=16…23
u’(j)=uH(j)


j=24…31
Next modified subclause
5.1a.24.6
Interleaving

a)
Header

The header, {hc(0),...,hc(107)}, is interleaved as defined in subclause 5.1a.2.1, with NC=108 and a=10, resulting in a block of 108 bits, {hi(0),...,hi(107)}.
b)
Data and PAN

If a PAN is not included, the following rule applies:

dc(k) = c(k)


for k = 0,...,955

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,79

dc(k) =c(k-80)

for k = 80,..,955



The block {dc(0),...,dc(955)} is interleaved as defined in subclause 5.1a.2.1, with NC=956 and a=173, resulting in a block of 956 bits, {di(0),...,di(955)}.
Next modified subclause
5.1a.24.7
Mapping on a burst

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(239B+j)

for j = 0,...,119

e(B,j) = hi(27B+j-120)
for j = 120,...,135

e(B,j) = q(2B+j-136)

for j = 136,137

e(B,j) = u’(8B+j-138)
for j = 138,...,145

e(B,j) = hi(27B+j-130)
for j = 146,...,156

e(B,j) = di(239B+j-37)
for j = 157,...,275

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme DBS-5 or DBS-6.

In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
Next modified subclause
5.1a.26.2
USF coding

5.1a.26.2.1
BTTI configuration
The USF bits {u(0),u(1),u(2)} are block coded into 64 bits u’(0),u’(1),...,u’(63) according to the following table:

	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(63)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1

	001
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1

	010
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1

	011
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1

	100
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 0 0 1 1 0 0 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1

	101
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1

	110
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	0 0 1 1 0 0 1 1 0 0 1 1 0 0 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

	111
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1


5.1a.26.2.2
RTTI configurations

If the USF is sent in RTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the USF bits {u(0),u(1),u(2)} are block coded into 64 bits u’(0),u’(1),...,u’(63) as described in subclause 5.1a.26.2.1.
If the USF is sent in BTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the three bits of the USF to be sent on the lower numbered PDCH of a corresponding downlink PDCH-pair are block coded into 64 bits uL(0),uL(1),...,uL(63) as described in subclause 5.1a.26.2.1; the three bits of the USF to be sent on the higher numbered PDCH of a corresponding downlink PDCH-pair are block coded into 64 bits uH(0),uH(1),...,uH(63) as described in subclause 5.1a.26.2.1.
NOTE:
If BTTI USF mode is used when sending data blocks in RTTI configuration, then u(0),u(1),u(2) need not contain a USF; in this case, they are ignored by the encoder. How the USFs are delivered to the encoder in this case is implementation dependent.

If the data block is sent in the first 10ms of a 20ms block period, then:

u’(j)=uL(j),

j=0…15
u’(j)=uH(j-16),
j=16…31
u’(j)=uL(j-16),
j=32…47
u’(j)=uH(j-32)

j=48…63
If the data block is sent in the second 10ms of a 20ms block period, then:

u’(j)=uL(j+32),
j=0…15
u’(j)=uH(j+16),
j=16…31
u’(j)=uL(j+16),
j=32…47
u’(j)=uH(j)


j=48…63
Next modified subclause
5.1a.26.6
Interleaving

a)
Header

The header, {hc(0),...,hc(143)}, is interleaved as defined in subclause 5.1a.2.1, with NC=144 and a=5, resulting in a block of 144 bits, {hi(0),...,hi(143)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,995

dc(k) = c2(k-996)
for k = 996,...,1991

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,79

dc(k) = c1(k-80)

for k = 80,…,1035

dc(k) = c2(k-1036)
for k = 1036,…,1991




The block {dc(0),...,dc(1991)} is interleaved as defined in subclause 5.1a.2.1, with NC=1992 and a=325, resulting in a block of 1992 bits, {di(0),...,di(1991)}.
Next modified subclause
5.1a.26.7
Mapping on a burst

a)
Straightforward mapping
The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(498B+j)

for j = 0,...,248

e(B,j) = hi(36B+j-249)
for j = 249,...,271
e(B,j) = q(2B+j-272)

for j = 272,273
e(B,j) = hi(36B+j-251)
for j = 274,...,275
e(B,j) = u’(16B+j-276)
for j = 276,...,291

e(B,j) = hi(36B+j-267)
for j = 292,...,302

e(B,j) = di(498B+j-54)
for j = 303,...,551

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0 identifies the coding scheme DBS-7 or DBS-8.
b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,224+k) with e(B,250+k) for k=0, 4, 8, 12, 16, 20, 24.

Swap e(B,221+k) with e(B,251+k) for k=0, 4, 8, 12, 16, 20, 24.

Swap e(B,304+k) with e(B,294+k) for k=0, 1, 4, 5, 8.
In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
b) PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,47) with e(B,120)

Swap e(B,110) with e(B,160)

Swap e(B,131) with e(B,177)

Swap e(B,199) with e(B,81)

Swap e(B,271) with e(B,201)

Swap e(B,358) with e(B,368)

Swap e(B,379) with e(B,444)

Swap e(B,426) with e(B,340)

Swap e(B,447) with e(B,329) 
Swap e(B,510) with e(B,500) 
Swap e(B,531) with e(B,405)

For B = 1
Swap e(B,30) with e(B,40)

Swap e(B,51) with e(B,120)

Swap e(B,114) with e(B,177)

Swap e(B,182) with e(B,0)

Swap e(B,203) with e(B,81)

Swap e(B,250) with e(B,201)

Swap e(B,275) with e(B,160)

Swap e(B,430) with e(B,368)

Swap e(B,451) with e(B,405)

Swap e(B,514) with e(B,444)

For B = 2

Swap e(B,34) with e(B,120)

Swap e(B,55) with e(B,160)

Swap e(B,123) with e(B,40)

Swap e(B,186) with e(B,81)

Swap e(B,207) with e(B,201)

Swap e(B,254) with e(B,177)

Swap e(B,303) with e(B,444)

Swap e(B,350) with e(B,340)

Swap e(B,371) with e(B,500)

Swap e(B,434) with e(B,368)

Swap e(B,455) with e(B,405)

Swap e(B,523) with e(B,329)

For B = 3

Swap e(B,38) with e(B,160)

Swap e(B,106) with e(B,81)

Swap e(B,127) with e(B,120)

Swap e(B,190) with e(B,201)

Swap e(B,211) with e(B,177)

Swap e(B,302) with e(B,340)
Swap e(B,354) with e(B,500)

Swap e(B,375) with e(B,405)

Swap e(B,438) with e(B,444)

Swap e(B,506) with e(B,329)

Swap e(B,527) with e(B,368)
Next modified subclause
5.1a.28.6
Interleaving

a)
Header

The header, {hc(0),...,hc(167)}, is interleaved as defined in subclause 5.1a.2.1, with NC=168 and a=17, resulting in a block of 168 bits, {hi(0),...,hi(167)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,655

dc(k) = c2(k-656)
for k = 656,...,1311

dc(k) = c3(k-1312)
for k = 1312,...,1967

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,...,77

dc(k) = c1(k-78)

for k = 78,…,707

dc(k) = c2(k-708)
for k = 708,…,1337

dc(k) = c3(k-1338)
for k = 1338,…,1967






The block {dc(0),...,dc(1967)} is interleaved as defined in subclause 5.1a.2.1, with NC=1968 and a=283, resulting in a block of 1968 bits, {di(0),...,di(1967)}.
Next modified subclause
5.1a.28.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(492B+j)

for j = 0,...,245

e(B,j) = hi(42B+j-246)
for j = 246,...,271
e(B,j) = q(2B+j-272)

for j = 272,273
e(B,j) = hi(42B+j-248)
for j = 274,...,275
e(B,j) = u’(16B+j-276)
for j = 276,...,291

e(B,j) = hi(42B+j-264)
for j = 292,...,305

e(B,j) = di(492B+j-60)
for j = 306,...,551

where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1 identifies the coding scheme DBS-9.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,216+k) with e(B,246+k) for k=0, 1, 4, 5, 8, 9, 12, 13, 16, 17, 20, 21, 24, 25, 28, 29.

Swap e(B,308+k) with e(B,294+k) for k=0, 1, 4, 5, 8, 9.
In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
c) PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,26) with e(B,81)

Swap e(B,74) with e(B,177)

Swap e(B,87) with e(B,201)

Swap e(B,174) with e(B,40)

Swap e(B,222) with e(B,160)

Swap e(B,235) with e(B,120)

Swap e(B,343) with e(B,444)

Swap e(B,430) with e(B,368)

Swap e(B,443) with e(B,500)

Swap e(B,491) with e(B,405)

For B = 1

Swap e(B,38) with e(B,120)

Swap e(B,51) with e(B,40)

Swap e(B,99) with e(B,201)

Swap e(B,186) with e(B,81)

Swap e(B,234) with e(B,177)

Swap e(B,307) with e(B,500)

Swap e(B,442) with e(B,405)

Swap e(B,455) with e(B,329)

Swap e(B,503) with e(B,444)

For B = 2

Swap e(B,50) with e(B,160)

Swap e(B,63) with e(B,120)

Swap e(B,111) with e(B,177)

Swap e(B,198) with e(B,201)

Swap e(B,211) with e(B,81)

Swap e(B,306) with e(B,444)

Swap e(B,319) with e(B,368)

Swap e(B,406) with e(B,329)

Swap e(B,454) with e(B,405)

Swap e(B,467) with e(B,500)

For B = 3

Swap e(B,14) with e(B,40)

Swap e(B,62) with e(B,160)

Swap e(B,75) with e(B,120)

Swap e(B,123) with e(B,177)

Swap e(B,210) with e(B,201)

Swap e(B,223) with e(B,81)

Swap e(B,331) with e(B,368)

Swap e(B,418) with e(B,329)

Swap e(B,466) with e(B,444)

Swap e(B,479) with e(B,500)

Next modified subclause
5.1a.29.2
USF coding

5.1a.29.2.1
BTTI configuration
The USF bits {u(0),u(1),u(2)} are block coded into 80 bits u’(0),u’(1),...,u’(79) according to the following table:

	u(0),u(1),u(2)
	u’(0),u’(1),...,u’(79)

	
	burst 0
	burst 1
	burst 2
	burst 3

	000
	0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0

	001
	1 0 0 1 0 1 0 0 1 0

1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 

0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 

1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0

	010
	1 0 0 1 0 1 0 0 1 0 

0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 

0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0

0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0

0 0 0 0 0 0 0 0 0 0

	011
	0 0 0 0 0 0 0 0 0 0 

1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 

0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0 

1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0

0 0 0 0 0 0 0 0 0 0

	100
	1 0 0 1 0 1 0 0 1 0 

0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0 

1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 

0 0 0 0 0 0 0 0 0 0
	0 0 0 0 0 0 0 0 0 0

1 0 0 1 0 1 0 0 1 0

	101
	0 0 0 0 0 0 0 0 0 0

1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 

1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0 

1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0

1 0 0 1 0 1 0 0 1 0

	110
	0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0 

1 0 0 1 0 1 0 0 1 0
	0 0 0 0 0 0 0 0 0 0

 0 0 0 0 0 0 0 0 0 0
	1 0 0 1 0 1 0 0 1 0

1 0 0 1 0 1 0 0 1 0

	111
	1 0 0 1 0 1 0 0 1 0

1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 

1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0 

1 0 0 1 0 1 0 0 1 0
	1 0 0 1 0 1 0 0 1 0

1 0 0 1 0 1 0 0 1 0


5.1a.29.2.2
RTTI configurations

If the USF is sent in RTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the USF bits {u(0),u(1),u(2)} are block coded into 80 bits u’(0),u’(1),...,u’(79) as described in subclause 5.1a.29.2.1.
If the USF is sent in BTTI USF mode (see 3GPP TS 45.002) when data blocks are transmitted in RTTI configuration, then the three bits of the USF to be sent on the lower numbered PDCH of a corresponding downlink PDCH-pair are block coded into 80 bits uL(0),uL(1),...,uL(79) as described in subclause 5.1a.29.2.1; the three bits of the USF to be sent on the higher numbered PDCH of a corresponding downlink PDCH-pair are block coded into 48 bits uH(0),uH(1),...,uH(79) as described in subclause 5.1a.29.2.1.

NOTE:
If BTTI USF mode is used when sending data blocks in RTTI configuration, then u(0),u(1),u(2) need not contain a USF; in this case, they are ignored by the encoder. How the USFs are delivered to the encoder in this case is implementation dependent.

If the data block is sent in the first 10ms of a 20ms block period, then:

u’(j)=uL(j),

j=0…19
u’(j)=uH(j-20),
j=20…39
u’(j)=uL(j-20),
j=40…59
u’(j)=uH(j-40)

j=60…79
If the data block is sent in the second 10ms of a 20ms block period, then:

u’(j)=uL(j+40),
j=0…19
u’(j)=uH(j+20),
j=20…39
u’(j)=uL(j+20),
j=40…59
u’(j)=uH(j)


j=60…79
Next modified subclause
5.1a.29.6
Interleaving

a)
Header

The header, {hc(0),...,hc(167)}, is interleaved as defined in subclause 5.1a.2.1, with NC=168 and a=19, resulting in a block of 168 bits, {hi(0),...,hi(167)}.
b)
Data and PAN

If a PAN is not included, data are put together as one entity as described by the following rule:

dc(k) = c1(k)


for k = 0,...,832

dc(k) = c2(k-833)
for k = 833,...,1665

dc(k) = c3(k-1666)
for k = 1666,...,2498

dc(k) = 0



for k = 2499

If a PAN is included, data and PAN are put together as one entity as described by the following rule:

dc(k) = ac(k)


for k = 0,…,77

dc(k) = c1(k-78)

for k = 78,…,884

dc(k) = c2(k-885)
for k = 885,…,1691

dc(k) = c3(k-1692)
for k = 1692,…,2498

dc(k) = 0



for k = 2499






The block {dc(0),...,dc(2499)} is interleaved as defined in subclause 5.1a.2.1, with NC=2500 and a=323, resulting in a block of 2500 bits, {di(0),...,di(2499)}.
Next modified subclause
5.1a.29.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(625B+j)

for j = 0,...,312

e(B,j) = hi(42B+j-313)
for j = 313,...,339
e(B,j) = q(3B+j-340)

for j = 340
e(B,j) = hi(42B+j-314)
for j = 341
e(B,j) = q(3B+j-341)

for j = 342,...,343
e(B,j) = hi(42B+j-316)
for j = 344
e(B,j) = u’(20B+j-345)
for j = 345,...,364

e(B,j) = hi(42B+j-336)
for j = 365,...,377

e(B,j) = di(625B+j-65)
for j = 378,...,689

where

q(0),q(1),...,q(7) = 0,0,0,0,0,0,0,0,0,0,0,0 identifies the coding scheme DBS-10.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,285+k) with e(B,316+k) for k=0, 5, 10, 15, 20, 25.

Swap e(B,278+k) with e(B,314+k) for k=0, 5, 10, 15, 20, 25, 30.

Swap e(B,270+k) with e(B,317+k) for k=0, 5,10.

Swap e(B,268+k) with e(B,332+k) for k=0, 5.

Swap e(B,380+k) with e(B,366+k) for k=0, 5, 10.

Swap e(B,378+k) with e(B,369+k) for k=0, 5.

Swap e(B,388+k) with e(B,367+k) for k=0, 5.

Swap e(B,395) with e(B,377)
In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
c)   PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0

Swap e(B,21) with e(B,80)

Swap e(B,42) with e(B,98)

Swap e(B,84) with e(B,110)

Swap e(B,126) with e(B,158)

Swap e(B,147) with e(B,170)

Swap e(B,189) with e(B,188)

Swap e(B,367) with e(B,410)

Swap e(B,409) with e(B,433)

Swap e(B,451) with e(B,480)

Swap e(B,472) with e(B,503)

Swap e(B,514) with e(B,530)

Swap e(B,556) with e(B,688)

Swap e(B,577) with e(B,640)

For B = 1

Swap e(B,86) with e(B,80)

Swap e(B,107) with e(B,98)

Swap e(B,149) with e(B,110)

Swap e(B,191) with e(B,158)

Swap e(B,212) with e(B,188)

Swap e(B,254) with e(B,200)

Swap e(B,474) with e(B,410)

Swap e(B,516) with e(B,433)

Swap e(B,537) with e(B,480)

Swap e(B,579) with e(B,503)

Swap e(B,621) with e(B,530)

Swap e(B,642) with e(B,493)

For B = 2

Swap e(B,17) with e(B,200)

Swap e(B,151) with e(B,80)

Swap e(B,172) with e(B,98)

Swap e(B,214) with e(B,110)

Swap e(B,256) with e(B,158)

Swap e(B,277) with e(B,170)

Swap e(B,334) with e(B,188)

Swap e(B,384) with e(B,493)

Swap e(B,539) with e(B,410)

Swap e(B,581) with e(B,433)

Swap e(B,602) with e(B,480)

Swap e(B,644) with e(B,503)

Swap e(B,686) with e(B,530)

For B = 3

Swap e(B,19) with e(B,158)

Swap e(B,61) with e(B,170)

Swap e(B,82) with e(B,188)

Swap e(B,237) with e(B,80)

Swap e(B,279) with e(B,98)

Swap e(B,331) with e(B,110)

Swap e(B,386) with e(B,503)

Swap e(B,407) with e(B,530)

Swap e(B,449) with e(B,493)

Swap e(B,604) with e(B,410)

Swap e(B,646) with e(B,433)

Swap e(B,667) with e(B,480)

Next modified subclause
5.1a.30.6
Interleaving

a)
Header

The header, {hc(0),...,hc(187)}, is interleaved as defined in subclause 5.1a.2.1, with NC=188 and a=3, resulting in a block of 188 bits, {hi(0),...,hi(187)}.
b)
Data and PAN

If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,619

dc2(k) = c2(k)


for k = 0,...,619

dc3(k) = c3(k)


for k = 0,...,619

dc4(k) = c4(k)


for k = 0,...,619

If a PAN is included, the following definitions apply:

dc1(k) = ac(4k)


for k = 0,…,19

dc1(k) = c1(k-20)

for k = 20,…,619

dc2(k) = ac(4k+1)

for k = 0,…,19

dc2(k) = c2(k-20)

for k = 20,…,619

dc3(k) = ac(4k+2)

for k = 0,…,19

dc3(k) = c3(k-20)

for k = 20,…,619

dc4(k) = ac(4k+3)

for k = 0,…,19

dc4(k) = c4(k-20)

for k = 20,…,619









The four blocks {dc1(0),...,dc1(619)}, {dc2(0),...,dc2(619)}, {dc3(0),...,dc3(619)} and {dc4(0),...,dc4(619)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=620 and a=141, resulting in the four blocks {di1(0),…,di1(619)}, {di2(0),…,di2(619)}, {di3(0),…,di3(619)} and {di4(0),…,di4(619)}, where di1 corresponds to dc1, di2 to dc2, di3 to dc3 and di4 to dc4.

The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,619

di(k) = di2(k-620)

for k = 620,...,1239

di(k) = di3(k-1240)

for k = 1240,...,1859

di(k) = di4(k-1860)

for k = 1860,...,2479

Next modified subclause
5.1a.30.7
Mapping on a burst

a)
Straightforward mapping

The mapping is given by the rule:

For B=0,1,2,3, let

e(B,j) = di(620B+j)

for j = 0,...,309

e(B,j) = hi(47B+j-310)
for j = 310,...,339
e(B,j) = q(3B+j-340)

for j = 340
e(B,j) = hi(42B+j-311)
for j = 341
e(B,j) = q(3B+j-341)

for j = 342,...,343
e(B,j) = hi(42B+j-313)
for j = 344
e(B,j) = u’(20B+j-345)
for j = 345,...,364

e(B,j) = hi(47B+j-333)
for j = 365,...,379

e(B,j) = di(620B+j-70)
for j = 380,...,689

where

q(0),q(1),...,q(7) = 1,1,1,1,1,1,1,1,1,1,1,1 identifies the coding scheme DBS-11 or DBS-12.

b)
Bit swapping

After this mapping the following bits are swapped:

For B = 0,1,2,3,

Swap e(B,275+k) with e(B,311+k) for k=0, 3, 5, 8, 10, 13, 15, 18, 20, 23, 25, 28, 30, 33.

Swap e(B,260+k) with e(B,312+k) for k=0, 5, 10.

Swap e(B,263+k) with e(B,327+k) for k=0, 5, 10.

Swap e(B,380+k) with e(B,366+k) for k=0, 3, 5, 8, 10, 13.

Swap e(B,395+k) with e(B,372+k) for k=0, 5.

Swap e(B,398) with e(B,367).

In RTTI configuration, the bursts with B = 0,2 shall be mapped on the PDCH having the lower timeslot number, whereas the bursts with B = 1,3 shall be mapped on the PDCH having the higher timeslot number, see 3GPP TS 45.002.
c)   PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0, 1, 2 and 3

Swap e(B,29) with e(B,110)

Swap e(B,114) with e(B,158)

Swap e(B,141) with e(B,80)

Swap e(B,199) with e(B,188)

Swap e(B,226) with e(B,98)

Swap e(B,381) with e(B,433)

Swap e(B,466) with e(B,480)

Swap e(B,634) with e(B,410)

Next modified subclause
5.1a.31.6
Interleaving

a)
Header

The header interleaving is the same as for for DBS-11 as specified in subclause 5.1a.30.6.

b)
Data and PAN

If a PAN is not included, the following definitions apply:

dc1(k) = c1(k)


for k = 0,...,619

dc2(k) = c2(k)


for k = 0,...,619

dc3(k) = c3(k)


for k = 0,...,619

dc4(k) = c4(k)


for k = 0,...,619

If a PAN is included, the following definitions apply:

dc1(k) = ac(k)


for k = 0,…,13

dc1(k) = c1(k-14)

for k = 14,…,619

dc2(k) = ac(k+1)


for k = 0,…,13

dc2(k) = c2(k-14)

for k = 14,…,619

dc3(k) = ac(k+2)


for k = 0,…,13

dc3(k) = c3(k-14)

for k = 14,…,619

dc4(k) = ac(k+3)


for k = 0,…,13

dc4(k) = c4(k-14)

for k = 14,…,619









The four blocks {dc1(0),...,dc1(619)}, {dc2(0),...,dc2(619)}, {dc3(0),...,dc3(619)} and {dc4(0),...,dc4(619)} are separately interleaved as defined in subclause 5.1a.2.2, with NC=620 and a=141, resulting in the four blocks {di1(0),…,di1(619)}, {di2(0),…,di2(619)}, {di3(0),…,di3(619)} and {di4(0),…,di4(619)}, where di1 corresponds to dc1, di2 to dc2, di3 to dc3 and di4 to dc4.

The blocks are put together as one entity as described by the following rule:

di(k) = di1(k)



for k = 0,...,619

di(k) = di2(k-620)

for k = 620,...,1239

di(k) = di3(k-1240)

for k = 1240,...,1859

di(k) = di4(k-1860)

for k = 1860,...,2479

Next modified subclause
5.1a.31.7
Mapping on a burst

a)   Straightforward mapping

The mapping is the same as for DBS-11 as specified in subclause 5.1a.30.7 a).
b)  Bit swapping

The bit swapping is the same as for DBS-11 as specified in subclause 5.1a.30.7.b).

c)  PAN bit swapping

In case a PAN is included in the radio block, the following additional bits are swapped:

For B = 0, 1, 2 and 3

Swap e(B,29) with e(B,158)

Swap e(B,141) with e(B,80)

Swap e(B,226) with e(B,110)

Swap e(B,282) with e(B,98)

Swap e(B,381) with e(B,480)

Swap e(B,437) with e(B,433)

Swap e(B,522) with e(B,503)

Swap e(B,634) with e(B,410)
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